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Geometry : Notes 7.1: Ratio and Proportion :Name:

@ Students will be able to write and reduce ratios and solve proporfions.

The Michigan State Spartans have waon logomes and lost -3 games so far this season. Compare
the following: (use any way you know)

(a) Wins to losses _‘Q (b) Wins fo number of games played

[0:3 3 |0t03 10:13 B 1orel3

[}
+ A Kd" 'D is a comparison of a number a and a nonzerc number b using

AWISIdA

1 2. QA 'h" 3.

A ratio can be written 3 ways: ¢ d\
a—
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Example 1: A football team has won 9 games and lost 5. Find the ratio.

a. wins to lg b. losses to wins c. losses to number of games played

2
By
Ty the ratios. 1A - | $\. 39{- ) ‘YQ{

a.ii—”’iﬁ b. 0 cm :200 cm c. eVl 4 gft:8yards
yads 18 in
L A 3(, 8t .
3 so8 =35 {5 . By » 9"
+ 5o, simplifying ratios is almost identfical fo ‘ d!lﬂ. ﬂi m

Example 2:

—
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Commeon conversions:

12 inches = 1 foot 10 mm =1cm 7 days = 1 week 16 ounces = 1 Ib (pound)
3 feet = 1 yard 100cm=1m 12 months = 1 year 4 quarts = 1 gallon
1000 m =1 km 2 4 hours = 1 day 100mL=1L

Try: Simplify the ratios. 1D, etk :\\/J 3.[+;|\I4 0D e [N

2 2. 2 years: 8 months 3. M33 4 —_Lm x (0D
wom 16 feet 150 em

A I3
Q 1" x| (L Kl 100 e ]
G onths ' f |F0
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Example 3: In the diagram, AB :BCis 4 : 1 and AC = 10. Find AB and BC,
\

Yx +1x =10

A 4)"-/8 C 5\[—‘0
5 S ~—

Example 4: The perimeter of arectangle is ; feet. The ratfio of th{leng’rh to the wi

c@m 73
Find the length and the width of the rectangle.

«“n atln - =N * 33

X
| Rz X.300- 12 H
3)('- % \Nl <
:3 3x ’M’M 3wt 3x ’TD/
2 =1

10
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Try:

1. In the diagram, FG : GH =4 : 3 and FH = 56. Find FG and GH.

—_—————— _ o

s gya3xase | FOT 3L

Fogy © 3% H :th'%é GH: a4
*=8

2. The perimetfer of arectangle is 84 feet. The ratio of the width to the lengthis 2 : 5. Find
the length cmd the width of the rectangle.

y&')'xJQY“AY‘s‘/ width p £+
Iy =8X et 30ff

%—

a,x

5&
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Solving proportions

#r Proportion: An equation that states two gd /D S are

a:b=c:d or

a
b

Cross Product Property
In a proportion, the product of the extremes is equal to the product of the means.

Tf foen a4 ke
Example 5: Solve the following proportions.

x 5 +2 2 5
= b.S =¥ c.—=

o ¥ AN SN
TR Sp=304H  3x):S0-)

- s b bx-8:5%-5
o%. = OO -5

( : =9 _ez "S5

\2‘\* ’a\‘ ’3_1 X $ 48

d.

RS
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